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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- By signing these papers, I agree to not ———- any of my company’s financial records to
anyone outside of my firm.
1) authorize 2) articulate 3) divulge 4} victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove ------- -
1} vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s -—-——
stories about her childhood.

1} interminable 2) credible 3) widespread 4) hteral

4-  After learning the lawyer accepted a bribe, the committee decided to ——-- him and
suspend his license.
1} encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —-—-- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avoud

6-  Now that | have got another offer of employment, which sounds as good as the earlier
one, [ am in a ——-———-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge -———-- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1) discrepancy 2) autonomy 3) randomness 4) opposition

8 To get a good grade on the research project. you must -——-- vour report with provable
facts.
1) inforin 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is 4 ——---—- problem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- Ifa -—— -— answer can provide the information requested, there is no reason to bore a
person with a long response.
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It 15 very easy to lead someone’s memory astray. For example, 1f | witness a traffic
accident and (11) ==-=-mmm- whether the car stopped before or after the tree. | am much
more likely to “insert” a tree into my memory of the scene, (12) ---—— no tree was
actually present. This occurrence reflects the fact that when we retrieve a memory, we
also re-encode 1t and during that process it 15 (13) ——-—-— errors.
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Elizabeth Loftus at the Umversity of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge implications for the court room, with
experiments (14) ——--- - that eyewitness testimonies can be adversely influenced by
misleading questioning. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) === -- they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked  2) later asking 3) to be asked later  4) later asked
12- 1) even then 2) so even 3)asif even 4) even if
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
chaeice (1), (2). (3). or (4). Then mark the correct choice on your answer sheet

PASSAGE 1:

Environmental biotechnology is used in waste treatment and pollution prevention.
Environmental biotechnology can more efficiently clean up many wastes than
conventional methods and greatly reduce our dependence on methods for land-based
disposal,

Some bacteria thrive on the chemical components of waste products. Environmental
engineers use  bioremediation, the broadest application of environmental
biotechnology. They introduce nutrients to stimulate the activity of bacteria already
present in the soil at waste site, or add new bactenia to the soil.

Through application of biotechnical methods, enzyme bioreactors are being
developed that will pretreat some industrial waste and food waste components and
allow their removal through the sewage system rather than through solid waste
disposal mechanisms. Waste can also be converted to biofuel to run generators.
Microbes can be induced to produce enzymes needed to convert plant and vegetable
materials into building blocks for biodegradable plastics.

In some cases, the byproducts of the pollution-fighting microorganisms are
themselves useful. For example, methane can be derived from a form of bactena that
degrades sulfur liquor, a waste product of paper manufacturing. This methane can then
be used as a fuel or in other industnal processes.

16- It’s referred in the passage that now we -————-——— .
1) merely use biotechnology methods for cleaning up our environment
2) still rely on traditional methods for getting nid of our wastes
3) efficiently remove many wastes by using extended sewage system
4) greatly reduce our waste production by not depending on conventional land-based disposal



17-

18-

19-

20-

21-

The word “thrive” in line 5 means ———-—— .

1) collect 2) find 3) erow 4) insert

It’s inferred from the passage that sulfurliguor ———-—- —.

1) acts as a stmulator in lioremediation

2) produces a very dangerous gas called methane

3) 15 a pollutant that can be changed to simpler forms

4} 1s a product resulting from pollution—fighting micrmrganisms
Bioremediation, according to the passage, is ~—=--—--—-

1} a method applied for v.:ultunng new useful bdatena

2) used by environmental engineers in two basic ways

3) an exclusive way for pretreating industrial waste and food waste components
4) a method using biofuel provided from converting wastes for running generators
Biodegradable plastics are made from -------——--—-- ;

1) converted plant and vegetable materials

2) building blocks inducing the plants

3) enzymes produced by inducing microbes

4) vegetable materials grown by biocengineering method

PASSAGE 2:

Industrial biotechnology applies the techniques of modern molecular biology to
improve the efficiency and reduce the environmental impacts of industrial processes
like textile, paper and pulp, and chemical manufacturing.

Commodity chemicals and specialty chemicals can be produced using biotech
applications, Traditional chemical synthesis involves large amounts of energy and
often-undesirable products. Using biocatalysts, the same chemicals can be produced
more economically and more environmentally friendly. An example would be the
substitution of protease in detergents for other cleaning compounds. Detergent
proteases. which remove protein impurities, are essential components of modern
detergents. They are used to break down protein, present on items being washed.
Protease production results in a biomass that in turn vields a useful byproduct- an
organmge fertilizer.

Some agricultural crops, such as corn, can be used in place of petroleum to produce
chemicals. The crop's sugar can be fermented to acid, which can be then used as an
intermediate to produce other chemical feedstock for various products. It has been
projected that 30% of the world's chemical and fuel needs could be supplied by such
renewable resources in the first half of the next century. It has been demonstrated, at
test scale, that biopulping reduces the electrical energy required for wood pulping
process by 30% .

Which sentence, based on the passage, is Not true?

1) Fermentation in food processing is the process of converting carbohydrates to acids.

2) Some chemical products are used as intermediates to produce other chemical ones.

3} projections indicate that worldwide energy use could grow up to 30% in the next century.

4) By 2150, the plan is to produce about one-third of chemicals and fuels using
agricultural crops,
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The need to reduce our reliance on petro chemical-derived materials is leading us to

1) explore the synthesis of chemicals from renewable raw materials

2) acquire the best technique for converting any feedstocks

3) use the crude oil as a feedstock for production of many goods

4) make full use of locally produced materials and equipment to save our feedstocks

According to the passage, industrial biotechnology ----—-——-- .

1) offers businesses new techniques of modern molecular biology without ecological
interferences

2) is a process limited to a biomass as the everyday product

3) provides us with new products that their benefits are still not known by industry

4) offers an environmental friendly approach for industrial production of chemicals

The term, by-product refers to ----——-- -.

1}an incidental or secondary product made in the manufacture or synthesis of
something else

2) all undesirable products produced simultaneously with the mam reaction product

3) the surplus products derived merely from applying bie-manufacturing

4) a favorable substance released from unacatayzed reactions

Protease in biotechnology industry refers to -——------- -

1) a kind of biological catalyst that removes protein impurities

2) a group of enzymes catalvzing the degradation of a variety of biomolecules

3) a specific group of enzymes converting the proteins into more complex products

4} the integration of biological and chemical catalysts using for the synthesising the
next generation chemicals

PASSAGE 3:

Medicine is the science of healing. Biotechnology has brought medicine out of the age
of potions and into the era of genetic manipulation. seases that were once incurable
might now be remedied by tinkering with a person's DNA. Many people would
welcome this tinkering 1f it could cure debilitating diseases. Others question where to
draw the line between healing and tampering. As scientists unlock the secrets of the
human genome and learn how to manipulate sequences of DNA to modify evervthing
from eye color to memory skills, the hope is that people will live longer and enjoy
better health than ever before. Since the first bioengineered medicine—synthetic
human msulin—arrived on the market in 1982, more than 100 such medicines have
withstood rigorous testing and entered the marketplace. Beyond new treatments for
existing disease, recombinant DNA technology holds great potential for developing
vaccines that could prevent 1llnesses that still routinely devastate parts of the globe.

You can infer from the passage that the age of potions refers to —----——--

1) a period during which there was a widespread occurence of different dlb&d‘-eb
2) the time when medicine wasn’t considered as the science of healing

3) the era of application the different herbs in curing diseases

4) the age of using medicines in the treatment of diseases



27-  The diseases killing people in the past, may now be cured by ——---—- -,
1) making small changes to people’'s DNA
2) revealing the secrets related to human beings
3) manipulating chemical medicines through using genetic methods
4) increasing the people's information about their genetic structure
28 Uncovering the mysteries related to genes -——-—--——— :
1) makes people withstand problems better
2) helps people diagnose the problems of memory
3) provides a longer and healthier life for human beings
4) gives humans this ability to have a life without any illnesses
29-  Which sentence, according to the passage, is Not true?
1) There is no way for curing the debilitating diseases vet.
2) Many people don't welcome the remediation of diseases by tinkering method.

3) The first bioengineered medicine was introduced to market less than 40 yvears ago.

4) Nowadays the genetic manipulation trys to introduce better ways for treatment.

30- The word "rigorous' in line 10 means -—--—— A
1) constant 2) demanding 3) different 4) strict
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